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Q. A man made a loss of 10% by selling a
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Q. Rajendra makes a loss of 15% by
selling a radio for X 510. For how
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Q. A person X sells a saree for Rs 100 to Y
at a gain of 10% and Y sells the same saree
to Z3gtaloss %o. The how much Re

do b
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Q. A shopkeeper pretends to sell his goods at

T8 20%

(b) 24%

Wel 25%
R (d) 40%
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Q. Ravi bought two articles for Rs.1,500
each. He sold one article at 6% proflt
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Q. Rani sold a watch at a loss of 10%. Had
she sold it at 5% loss, she would have got

'Rs.550 more. FV]B%W/ uch money did Rani
buy the watch¥® >« - @)
\ 1,110
(b) R
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Q. If the difference between 25% profit and 15%
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Q. The ratlo of cost and selling price of an
hat will bethe %
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(e o (3) 20%
@/ 25%
(c) 30%
(d) 40%
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Q. A person marks his goods at 20% above its
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@ Q. The profit made by selling an article
for Rs. 648 is as much as the loss
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